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Mathematics/P1 3 DBE/May/June 2023
SC/NSC
QUESTION 1
1.1 Solve for x:
1.1.1 x’-7x+12=0 ()
1.1.2 x(Bx+5)=1 (correct to TWO decimal places) 4)
1.1.3 x? <-2x+15 4
1.1.4 v2(1-x) =x-1 @)
1.2 Solve for x and y simultaneously:
37 =27 and x4yt =17 (6)
1.3 Determine, without the use of a calculator, the value of:
! + ! + 1 +..4 =
V442 V2443 B3+44 V99 +4/100 3)
[24]
QUESTION 2
. . . 1 1 1
2.1 Given the geometric series: — +—+—+...
5 15 45
2.1.1 Is this a convergent geometric series? Justify your answer with the
necessary calculations. 2
2.1.2 Calculate the sum to infinity of this series. )
2.2 An arithmetic and a geometric sequence are combined to form the pattern, which is
. 1 1 1
ivenby: P =x;—;2x;—;3x;—;...
A A Y
22.1 Write down the next TWO terms of the pattern. (2)
222 Determine the general term (7)) for the odd terms of this pattern. Write
down your answer in terms of x. (2)
223 Calculate the value of Py. 3)
21
224 If > P, =33,5, determine the value of x. ©
n=1 6
[17]
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Mathematics/P1 3 DBE/November 2022
NSC
QUESTION 1
1.1 Solve for x:
1.1.1 (Bx-6)(x+2)=0 @)
1.1.2 2x* —6x+1=0 (correct to TWO decimal places) (3)
1.1.3 x* =90 > x 4)
1.1.4 x-Tdx=-12 (4)
1.2 Solve for x and y simultaneously:
2x—y=2
xy = 4 (5 )
1.3 Show that 2.5" —~5™' +5™ is even for all positive integer values of ». (3)
3y+1
1.4 Determine the values of x and y if: 5 v96* @)
[25]
QUESTION 2
2.1 The first term of a geometric series is 14 and the 6™ term is 448.
2.1.1 Calculate the value of the constant ratio, 7. 2)
2.1.2 Determine the number of consecutive terms that must be added to the first
6 terms of the series in order to obtain a sum of 114 674. (4)
2.1.3 If the first term of another series is 448 and the 6™ term is 14, calculate
the sum to infinity of the new series. 3)
k1 1 1 .
2.2 If Z —p+—|=20—, determine the value of £
o\ 3 6 6 3)
[14]
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Mathematics/P1 3 DBE/2022

SC/NSC

QUESTION 1
1.1 Solve for x:

1.1.1 x> +2x-15=0 3

1.1.2 5x*-x-9=0 (Leave your answer correct to TWO decimal places.) 3)

1.1.3 x* <3x “4)
1.2 Given: a+—6;4=16

1.2.1 Solve for a. 3)

1.2.2 Hence, solve for x: 2% +2°* =16 3)
1.3 Without using a calculator, calculate the value of \|'|—17_(2)T @
1.4 Solve for x and y simultaneously:

2x—y=2 and %—3y=1 ©)

[26]

QUESTION 2
2.1 The first term of an arithmetic sequence is —1 and the 7" term is 35.

Determine:

2.1.1 The common difference of the sequence 2)

2.12 The number of terms in the sequence if the last term of the sequence

is 473 3)

2.13 The sum of the first 40 terms in this sequence 2)
2.2 75:53;35; 21 ;... is a quadratic number pattern.

221 Write down the FIFTH term of the number pattern. )]

222 Determine the n™ term of the number pattern. 4)

223 Determine the maximum value of the following number pattern:

3 1
—15;—5?;—7;—25—;... @
[16]
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Mathematics P1 3

NSC
QUESTION 1
1.1 Solve for x:
1.1.1 x?=2x-24=0
1.1.2 2x* -3x-3=0 (correct to TWO decimal places)
1.1.3 x> +5x<—4

1.1.4 Vx+28=2-x

DBE/November 2021

1.2 Solve simultaneously for x and y in:
2y =3+x and 2xy+7=x>+4y*
—ntn’ -4
1.3 The roots of an equation are x = £ ; P where m, n and p are positive
m
real numbers. The numbers m, n and p, in that order, form a geometric sequence.
Prove that x is a non-real number.
QUESTION 2

Given the geometric series: x+90+ 81 + ...

2.1

2.2

23

Calculate the value of x.
Show that the sum of the first » termsis S, =1 000(1 —(0.9) )

Hence, or otherwise, calculate the sum to infinity.
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Mathematics/P1 3 DBE/2021
SC/NSC

QUESTION 1

1.1 Solve for x:

1.1.1 x*=x-20=0

1.1.2 3x> -2x-6=0 (correct to TWO decimal places)

1.1.3 (x-D*>9

1.1.4 29x+6+2=x

1.2 Solve simultaneously for x and y:
4x+y=2 and 4x+y> =8
1.3 If it is given that 2% x 37 =24°, determine the numerical value of x—y.
QUESTION 2
2.1 Consider the quadratic sequence: 72 ; 100 ; 120; 132; ...

2.1.1 Determine 7T,,the n” term of the quadratic sequence.

2.1.2 A term in the quadratic sequence 72 ; 100; 120; 132 ; ... is equal to the
twelfth term of the sequence of first-differences. Determine the position
of this term in the quadratic sequence.

2.1.3 Determine the maximum value of the quadratic sequence.

2.14 Determine the maximum value of the sequence:

-23,5;25;37; ...
2.2 Consider the sequence: —11; 2sin3x ;15; ...

Determine the values of x in the interval [0°; 90°] for which the sequence will be

arithmetic.
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Mathematics/P1 3 DBE/November 2020

SC/NSC
QUESTION 1
1.1 Solve for x:
1.1.1 x> —6x=0
1.1.2 x’+10x+8=0 (correct to TWO decimal places)
1.1.3 (1-xfx+2)<0
1.1.4 JVx+18 = x-2
1.2 Solve simultaneously for x and y:

x+y=3 and 2x*+4xy-y=15

1.3 If n is the largest integer for which #°® < 5, determine the value of #.
QUESTION 2
2.1 75 x5y ;-11; ... isanarithmetic sequence. Determine the values of x and y.
2.2 Given the quadratic number pattern: -3 ; 6 ; 27 ; 60 ; ...
2.2.1 Determine the general term of the pattern in the form 7, =an’+bn+c.
222 Calculate the value of the 50™ term of the pattern.
2.2.3 Show that the sum of the first »n first-differences of this pattern can be

givenby S, =6n"+3n.

22.4 How many consecutive first-differences were added to the first term of
the quadratic number pattern to obtain a term in the quadratic number
pattern that has a value of 21 0607
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Mathematics/P1 3 DBE/November 2019

NSC
QUESTION 1
1.1 Solve for x:
1.1.1 x> +5x-6=0
1.1.2 4x* +3x—-5=0 (correct to TWO decimal places)
1.1.3 4x* -1<0

114 (J\/iuj(x/«/ﬁ—xj:x

1.2 Solve simultaneously for x and y:
y+x=12 and xy=14-3x

1.3 Consider the product 1 x2x3 x4 x ... x 30.

Determine the largest value of & such that 3* is a factor of this product.

QUESTION 2
2.1 Given the quadratic sequence: 321 ; 290 ; 261 ; 234 ; ...
2.1.1 Write down the values of the next TWO terms of the sequence.
212 Determine the general term of the sequence in the form 7, = an® +bn+c.
2.13 Which term(s) of the sequence will have a value of 747
2.14 Which term in the sequence has the least value?
2.2 Given the geometric series: 3 + S + S +..=K
8§ 16 32
2.2.1 Determine the value of K if the series has 21 terms.
222 Determine the largest value of »n for which 7, > 8153
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Mathematics/P1 3 DBE/2019
SC/NSC

QUESTION 1
1.1 Solve for x:

1.1.1 X’ =5Xx-6=0 2

1.1.2 (3x—1)\x—4)=16 (correct to TWO decimal places) 4)

1.1.3 4x—x> >0 3)

5% -1

1.1.4 1 =4 3)
1.2 Solve simultaneously for X and y:

X+3y=2 and x> +4xy—-5=0 (5)
1.3 A rectangular box has dimensions a, b and c. The area of the surfaces are

2710 ; 342 and 645 , as shown in the diagram below.

2410
W2
&5 ’
b
a
Calculate, without using a calculator, the volume of the rectangular box. 5)
[22]

QUESTION 2
2.1 The first FOUR terms of a quadratic pattern are: 15 ; 29 ; 41 ; 51

2.1.1 Write down the value of the 5" term. (1)

2.1.2 Determine an expression for the n® term of the pattern in the form

T,=an’ +bn+c. (4)

2.13 Determine the value of T,, @)
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SCINSC

Given a geometric sequence: 36 ; —18 ; 9 ;...

Determine the value of r, the common ratio.

Calculate n if T, =L

4 096

Calculate S

T, +T, +T +T, +...+ Ty
T, +T, + Ty + T +...+ T,

Calculate the value of

The first three terms of an arithmetic sequence are: 2p+3;p+6and p—2.

Show that p=11.

Calculate the smallest value of n for which T, <-55.

6 9 15
Given that Z(X -3k)= Z(X —3k), prove that Z(X -3k)=0.
k=1 k=1 k=1

Mathematics/P1
2.2

2.2.1

2272

223

224
QUESTION 3
3.1

3.1.1

3.1.2
3.2
QUESTION 4

X
Given the exponential function: g(x) = (—j

1
2

Write down the range of g.

Determine the equation of g~ in the form y= ...

a function? Justify your answer.

The point M(a;2) lieson g~.

Calculate the value of a.

M, the image of M, lies on g. Write down the coordinates of M.

If h(x) = g(x + 3) + 2, write down the coordinates of the image of M’ on h.

4.1
4.2
4.3 Is g
4.4
4.4.1
44.2
4.5
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Mathematics/P1 3 DBE/November 2018

NSC
QUESTION 1
1.1 Solve for x:
1.1.1 x*—4x+3=0
1.1.2 5x* =5x+1=0 (correct to TWO decimal places)
1.1.3 x> =3x-10>0
1.1.4 3Wx=x-4
1.2 Solve simultaneously for x and y:
3x-y=2 and 2y+9x°=-1
1.3 If 3°* =64 and 57 =64, calculate, WITHOUT the use of a calculator,
the value of: [i’/};‘/];
QUESTION 2
2.1 Given the quadratic sequence: 2;3;10;23;...
2.1.1 Write down the next term of the sequence.
2.1.2 Determine the n™ term of the sequence.
2.13 Calculate the 20™ term of the sequence.
2.2 Given the arithmetic sequence: 35 ;28 ;21; ...

Calculate which term of the sequence will have a value of —140.
2.3 For which value of n will the sum of the first #n terms of the arithmetic sequence in

QUESTION 22 be equal to the »™ term of the quadratic sequence in
QUESTION 2.1?
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Mathematics/P1 3 DBE/Feb.—Mar. 2018

NSC

QUESTION 1
1.1 Solve for x:

1.1.1 x*—6x-16=0 3

1.1.2 2x> +7x—1=0 (correct to TWO decimal places) €))
1.2 List all the integers that are solutions to x° —25<0. 4
1.3 Solve for x and y:

~2y4+x=-1 and x*-7-3p*=-y (6)

32018 +32016
1.4 Evaluate: BT A 2)
1.5 Given: t(x)= L
x—3
1.5.1 For which values of x will 3x ;5 be real? 3)
x —_—
1.5.2 Solve for x if #(x)=1. 4)
[26]
QUESTION 2
. . . 10
2.1 Given the following geometric sequence: 30 ; 10 ; — ;...
. . " . 10
2.1.1 Determine » ifthe »" term of the sequence is equal to 799" 4
10
2.1.2 Calculate: 30+10+—+...
3 @

2.2 Derive a formula for the sum of the first » terms of an arithmetic sequence if the first

term of the sequence is a and the common difference is d. 4)

[10]
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Mathematics/P1 3
SCE
QUESTION 1
1.1 Solve for x:
1.1.1 Gx-1D(x+4)=0
1.1.2 2x*4+9x—14=0 (correct to TWO decimal places)
1.13 J3-26x =3x
1.1.4 (x—D(x—-4)>x+11

1.2 Simplify fully:

V16x7 —+/25%
Jx

1.3 Solve simultaneously for x and y:

xy=9and x-2y-3=0

1.4 Prove that x> +2xy+2y° cannot be negative for x, yeR.
QUESTION 2
2.1 Given the quadratic pattern: 5;10;17;26; ...
2.1.1 Write down the next TWO terms of the pattern.
2.12 Determine the formula for the #” term of the pattern.
2.1.3 Which term of the pattern will have a value of 1 7657
2.2 The first 24 terms of an arithmetic series are: 35 +42+49+ ... + 196.

DBE/2018

)
(4)
)
©)

€)

)

(4)
[27]

@)
(4)
4)

Calculate the sum of ALL natural numbers from 35 to 196 that are NOT divisible

by 7.
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Mathematics/P1 3 DBE/November 2017

NSC
QUESTION 1
1.1 Solve for x:
1.1.1 x*+9x+14=0 €)
1.1.2 4x* +9x—3=0  (correct to TWO decimal places) 4)

1.1.3 Jx? =5 =2/x 4)

1.2 Solve for x and y if:

3x—y=4 and x*+2xy—y’=-2 (6)
1.3 Given: f(x)=x*+8x+16
13.1 Solve for x if f(x) >0. (3)
1.3.2 For which values of p will f (x) = p have TWO unequal negative roots? 4)
[24]
QUESTION 2
2.1 Given the following quadratic number pattern: 5 ; —4 ; —19 ; —40 ; ...
2.1.1 Determine the constant second difference of the sequence. (2)
212 Determine the n" term (T,) of the pattern. (4)
2.1.3 Which term of the pattern will be equal to —25939? A3)
2.2 The first three terms of an arithmetic sequence are 2k —7 ; k+8 and 2k -1.
2.2.1 Calculate the value of the 15" term of the sequence. &)
222 Calculate the sum of the first 30 even terms of the sequence. 4)
[18]
QUESTION 3

A convergent geometric series consisting of only positive terms has first term @, constant ratio

= 1
r and ™ term, 7,, such that ZT,, =Z.

n=3
3.1 If T, +T, =2, write down an expression for a in terms of 7. 2
3.2 Calculate the values of a and r. (6)

[8]
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Mathematics/P1 3 DBE/Feb.—Mar. 2014
NSC

QUESTION 1

1.1 Solve for X in each of the following:
1.1.1 x> —2x-35=0 )
1.1.2 x> -16>0 4)
1.1.3 9.2%1 =2.3% 3)

1.2 Given: f(X): X* —5X+C

5+4/41

Determine the value of ¢ if it is given that the solutions of f(x)=0 are 3)
1.3 Solve for x and y if: 3*'° =3* and y* + x =20. (5)
[18]
QUESTION 2
2.1 A geometric sequence has T, =20 and T, = 40.
Determine:
2.1.1 The common ratio (1)
2.1.2 A formula for T, 3)
2.2 The following sequence has the property that the sequence of numerators is arithmetic
and the sequence of denominators is geometric:
2. -1 -4
17572577
2.2.1 Write down the FOURTH term of the sequence. (1)
2.2.2 Determine a formula for the n"™ term. 3)
223 Determine the 500" term of the sequence. (2)
2.2.4 Which will be the first term of the sequence to have a NUMERATOR
which is less than —59? 3)
[13]
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Mathematics/P1 3 DBE/2014

Downloaded From:

NSC — Grade 12 Exemplar

QUESTION 1
1.1 Solve for x:
1.1.1 32 —4x=0
1.1.2 X—6+g =0; x#0. (Leave your answer correct to TWO decimal
X
places.)
1.1.3 X3 =4
1.1.4 3*(x=35)<0
1.2 Solve for x and y simultaneously:

y=x’-x-6 and 2x-y=2

1.3 Simplify, without the use of a calculator:
NN
1.4 Given: f(x)=3(x-1)*>+5 and g(x) =3
1.4.1 Is it possible for f (x)= g(X) ? Give a reason for your answer.
1.4.2 Determine the value(s) of k for which f(x)= g(x)+ k has TWO unequal
real roots.
QUESTION 2
2.1 Given the arithmetic series: 18 +24 + 30 + ... + 300
2.1.1 Determine the number of terms in this series.
2.1.2 Calculate the sum of this series.
2.13 Calculate the sum of all the whole numbers up to and including 300 that
are NOT divisible by 6.
2.2 The first three terms of an infinite geometric sequence are 16, 8 and 4 respectively.
2.2.1 Determine the n™ term of the sequence.
222 Determine all possible values of n for which the sum of the first
n terms of this sequence is greater than 31.
223 Calculate the sum to infinity of this sequence.
Copyright reserved
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Mathematics/P1 3 DBE/November 2013
NSC
QUESTION 1
1.1 Solve for x in each of the following:
1.1.1 x*-x-12=0
1.1.2 (@) 2x*-5x-11=0
®) 2x’-5x*-11x=0
1.1.3 -3(x+7)x-5)<0
1.2 Given: y+2=x and y=x>-x-10
Solve for x and y simultaneously.
1.3 Simplify: 3201;%2013
QUESTION 2
2.1 Given the geometric sequence: 7;x; 63 ;...
Determine the possible values of x.
2.2 The first term of a geometric sequence is 15. If the second term is 10, calculate:
221 Tho
222 So
2.3 Given:O;—%;O;%;0;%;0;%;0;%;0;...
Assume that this number pattern continues consistently.
2.3.1 Write down the value of the 191% term of this sequence.
232 Determine the sum of the first 500 terms of this sequence.
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Mathematics/P1 4 DBE/November 2013

NSC
20 R
2.4 Given: Y (4x-1)
k=2
20 &
24.1 Calculate the first term of the series ) (4x-1)* if x=1. #))
k=2
2.4.2 For which values of x will " (4x—-1)F exist? 3)
k=1 [18]

QUESTION 3
3.1 Given the arithmetic sequence: -3;1;5;...;393

3.1.1 Determine a formula for the n™ term of the sequence. )

3.1.2 Write down the 4™, 5®, 6™ and 7 terms of the sequence. ?2)

3.13 Write down the remainders when each of the first seven terms of the

sequence is divided by 3. (2)
3.14 Calculate the sum of the terms in the arithmetic sequence that are
divisible by 3. 5)
3.2 Consider the following pattern of dots:
| @
FIGURE1 FIGURE?2 FIGURE 3 FIGURE 4

If T, represents the total number of dots in FIGURE n, then 7, =1 and T, =5.
If the pattern continues in the same manner, determine:

3.2.1 T, @

3.2.2 T, ()
[18]
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Mathematics/P1 3 DBE/Feb.—Mar. 2013
NSC
QUESTION 1
1.1 Solve for x:
111 (¢ -9)2x+1)=0 (3)
1.1.2 x> +Xx—13=0 (Leave your answer correct to TWO decimal places.) 4)
1.1.3 2.3* =81-3" 4
1.1.4 X+DH(4-x)>0 3)
1.2 Given: 2% +2*? =-5y+20
1.2.1 Express 2* in terms of'y. (2)
1.2.2 How many solutions for x will the equation have if y=—4? 2)
1.2.3 Solve for x if y is the largest possible integer value for which
2% 42" = -5y + 20 will have solutions. 3)
[21]
QUESTION 2
2.1 Given the geometric series: 256 +p+ 64 — 32 + ...
2.1.1 Determine the value of p. 3)
2.1.2 Calculate the sum of the first 8 terms of the series. 3)
2.1.3 Why does the sum to infinity for this series exist? (1)
2.14 Calculate S 3)
Copyright reserved Please turn over
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Mathematics/P1 3 DBE/November 2012
NSC
QUESTION 1
1.1 Solve for x in each of the following:
1.1.1 (2x-1)x+4)=0 2)
1.1.2 3x> —x =5 (Leave your answer correct to TWO decimal places.) 4)
1.1.3 x> +7x-8<0 4
1.2 Given: 4y—x=4 and xy =38
1.2.1 Solve for X and y simultaneously. (6)
1.2.2 The graph of 4y—x=4 is reflected across the line having equation
y = X. What is the equation of the reflected line? )

1.3 The solutions of a quadratic equation are given by X =

—2+.2p+5
7

For which value(s) of p will this equation have:

1.3.1 Two equal solutions (2)
1.3.2 No real solutions (1)
[21]
QUESTION 2
2.1 3x+1;2x; 3x -7 are the first three terms of an arithmetic sequence. Calculate the
value of X. (2)
2.2 The first and second terms of an arithmetic sequence are 10 and 6 respectively.
2.2.1 Calculate the 11" term of the sequence. (2)
2.2.2 The sum of the first n terms of this sequence is —560. Calculate n. (6)
[10]
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Mathematics/P1 3 DBE/Feb.— Mar. 2012
NSC
QUESTION 1
1.1 Solve for x:
1.1.1 3x* —5x =2 3)
2
1.1.2 X=" =5 “4)
1.1.3 (X+1)(x-3)>12 4)
1.2 Solve simultaneously for r and p in the following set of equations:
6r+5rp—-5p=38
r—p=2 (7)
1.3 The volume of a box with a rectangular base is 3 072 cm’. The lengths of the sides are
inthe ratio 1 : 2 : 3. Calculate the length of the shortest side. (4)
[22]
QUESTION 2
Given the arithmetic series: —7-3+1+... +173
2.1 How many terms are there in the series? 3)
2.2 Calculate the sum of the series. 3)
2.3 Write the series in sigma notation. 3)
[9]
QUESTION 3
3.1 Consider the geometric sequence: 4; —2;1 ...
3.1.1 Determine the next term of the sequence. (2)
3.1.2 Determine n if the n™ term is é . 4)
3.1.3 Calculate the sum to infinity of the series 4 -2 +1 ... (2)
3.2 If x is a REAL number, show that the following sequence can NOT be geometric:
I;x+1;x=-3... 4)
[12]
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Mathematics/P1 3 DBE/November 2011
NSC
QUESTION 1
1.1 Solve for x:
1.1.1 X(X+1)=6 3)
1.1.2 3x* —4x =38 (4)
1.1.3 4x% +1>5x 4)
1.2 Consider the equation:  X* +5xy +6y” =0
1.2.1 Calculate the values of the ratio X . 3)
y
1.2.2 Hence, calculate the values of x and y ifx+y=38. %)
[19]
QUESTION 2
2.1 Given the sequence: 4; X; 32

Determine the value(s) of x if the sequence is:

2.1.1 Arithmetic 2)
2.1.2 Geometric 3)
13 K
2.2 Determine the value of P if P = 23 - (4)
k=1
23 Prove that for any arithmetic sequence of which the first term is a and the constant
difference is d, the sum to n terms can be expressed as S, = g(Za +(n-1)d). (4)
[13]
QUESTION 3

The following sequence is a combination of an arithmetic and a geometric sequence:

3:3;9;6;15;12; ...

3.1 Write down the next TWO terms. 2)
32 Calculate T,, - Ty, . (5)
3.3 Prove that ALL the terms of this infinite sequence will be divisible by 3. (2)
[9]
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QUESTION 1
1.1 Solve for X, correct to TWO decimal places, where necessary:
1.1.1 X(x=1)=12 3)
1.1.2 27 +3x-7=0 (4)
1.1.3 7x* +18x-9>0 4)
1.2 Solve for x and Yy simultaneously:
2x-y =7
x> +xy=21-y> (7)
1.3 Simplify completely, without the use of a calculator:

[Vm+ﬁ)(SJJ§—ﬁj

3)
[21]
QUESTION 2
The sequence 3;9;17;27; ... is a quadratic sequence.
2.1 Write down the next term. (1)
22 Determine an expression for the n"" term of the sequence. 4)
2.3 What is the value of the first term of the sequence that is greater than 269? (4)
[9]
QUESTION 3
3.1 The first two terms of an infinite geometric sequence are 8 and % Prove, without
the use of a calculator, that the sum of the series to infinity is 16 +8+/2. 4)
3.2 The following geometric series is given: X=15 +15+45+ ... to 20 terms.
3.2.1 Write the series in sigma notation. 2)
322 Calculate the value of X. 3)
[9]
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QUESTION 1
1.1 Solve for x:
1.1.1 x(x—1)=30
1.1.2 3X* =5x+1=0 (Correct to ONE decimal place)
1.1.3 15x—4 < 9x°
1.2 Solve simultaneously for x and y in the following set of equations:
X—y=3
XX —xy—-2y*-=7=0
1.3 Calculate the exact value of:
\/1 T \/1 o (Show ALL calculations.)
1.4 Simplify completely without the use of a calculator:
(1 + W )2 - @
QUESTION 2
2.1 Tebogo and Matthew's teacher has asked that they use their own rule to construct a

sequence of numbers, starting with 5. The sequences that they have constructed are

given below.

Matthew's sequence: 5,9 ;13;17;21; ...
Tebogo's sequence: 5 ;125 ; 3125;78125;1953125; ...

Write down the n™ term (or the rule in terms of n) of:

2.1.1 Matthew's sequence
2.1.2 Tebogo's sequence
2.2 Nomsa generates a sequence which is both arithmetic and geometric. The first term

is 1. She claims that there is only one such sequence. Is that correct? Show ALL

your workings to justify your answer.
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3)
[22]

A3)
)

(5)
[10]
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QUESTION 1
1.1 Solve for X, rounded off to TWO decimal places where necessary:

1.1.1 X =5x-4 (3)

1.1.2 X(3—X)=-3 (5)

1.1.3 3-x<2x? )
1.2 Determine the values of x and y if they satisfy both the following equations

simultaneously:

2X+y =3

X +y+x=y (8)

. . x> —4
1.3 Given X =999 999 999 999, determine the exact value of 5 %
X h_
Show ALL your calculations. 3)
. NS |
1.4 Explain why the equation — — = — has no real roots. )
X
[26]
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